
 Quiz 57   

SBU 2020                                                                   Lesson 57 (quiz)   

 

1) Partner opens 1.  What would you bid with these hands? 

 a)  Q102 b)  3 c)  - d)  J973 e)  8762 

  7   K82   83   Q   K4 

   AJ10963   QJ6432   J965   K5   A875 

   952   854   KQJ9874   Q106432   863 

 

 __________ __________ __________ __________ __________ 

 

 

 

2) What do you bid with these West hands after partner’s 1NT response? 

 

 a)  AQJ74 b)  7 c)  AQJ102 d)  KQ63 

  3   AKQ1082   A73   AQJ94 

  KJ4   J62   95   5 

   Q1092   K84   A84   K102 

 

 West East West East West East West East 

 1 1NT 1 1NT 1 1NT 1 1NT 
 ?  ?  ?  ? 

 

 __________ __________ __________ __________ 

 

 

 

3) Is the last bid in these auctions forcing or non-forcing?  Provide a hand that might bid this way. 

 

 West East    East has  __________ 

 1 1NT      __________ 

 2 2 _______________    __________ 

        __________ 

 

 

 West East    East has  __________ 

 1 1NT      __________ 

 2 3 _______________    __________ 

        __________ 

 

 

 West East    West has  __________ 

 1 1NT      __________ 

 3  _______________    __________ 

        __________ 

 

 

 West East    East has   __________ 

 1  1NT     __________ 

 2NT 3 _______________    __________ 

        __________ 


